
Template: “Choice card for anonymous rounds”   

 

The population is left 
uneasy following an 

earthquake that can be 
attributed to a 

geothermal plant. More 
research is required. 

Turn the price for 
renewable usage back 

one. 

On the grounds of 
climate protection, a new 
tax has been levied on 
crude oil. Turn the price 

for intensive usage 
forward one. 

Tuna fish have become 
afflicted by a new 
disease, thereby 

decreasing supply. Turn 
the price for intensive 
usage forward one. 

Precious metals needed 
for building solar 

facilities are scarce, 
reducing the supply. 

Turn the price for 
renewable usage back 

one. 

A persistent drought has 
lowered water reserves. 

Turn the price for 
intensive usage forward 

one. 

Unrest is preventing the 
mining of cobalt in the 

Congo, reducing supply. 
Turn the price for 

intensive usage forward 
one. 

The use of wood as a 
fuel for heating is 

subsidised. Turn the 
price for renewable 
usage forward one. 

The building of biogas 
digesters has been 
subsidised. Turn the 
price for renewable 
usage forward one. 

The use of recycled steel 
has been subsidised. 

Turn the price for 
renewable usage 

forward one. 
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The government 
demands that all 
companies are 

transparent about their 
use of resources. Skip 
the next anonymous 

round. 

A new oil treaty has 
been signed, increasing 
supply. Turn the price for 

intensive usage back 
one. 

As a result of 
speculation, the price of 

palm oil plummets 
rapidly on the global 

market. Turn the price 
for intensive usage back 

one. 

A support programme for 
creating a more circular 
economy is launched. 
Companies who have 
opted for renewable 

usage at least twice (in a 
personal round) receive 

ten currency units. 

A prize is awarded to 
companies who operate 
particularly efficiently. 
Companies who have 

opted for efficient usage 
at least twice (in a 

personal round) receive 
ten currency units. 

All companies are being 
evaluated on the 

sustainability of their 
operations. Companies 

who have opted for 
intensive usage at least 

twice (in a personal 
round) must give ten 
currency units to the 

bank. 

More efficient devices 
cause lower costs and 

higher profits in 
companies. If the 

majority of companies 
within your generation 
have opted for efficient 
usage, each player will 
receive ten currency 

units. 

The younger generations 
take to the streets in 

protest, demanding that 
the wasteful use of 

resources is punished. If 
the majority of your 

generation has opted for 
intensive usage, each 
player must give five 
currency units to the 

bank. 

Progress pays 
dividends. If the majority 
of companies within your 
generation have opted 
for renewable usage, 

each player will receive 
ten currency units. 

 


